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ENGLISH VERSION
Instructions : (1) Figures to the right indicate full marks of the
question.
(i1)) Necessary calculation as a part of answer.
1 Vinay Company Ltd., is considering in a project requiring 20

a capital of Rs. 2,00,000. Forecast for annual income after
depreciation but before tax is as follow :

Year 1 2 3 4 5
Rs. [1,00,000 1,00, 000 | 80,000 |80, 000 | 40, 000
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Depreciation may be taken at 20% on original cost and taxation at
50% of net profit.

You are required to evaluate the project according to each of the
following methods :

(1) Pay-back period.

(2) Rate of return on original investment.
(3) Rate of return on average investment.
(4) Net present value method.

(5) Profitability index method.

Note : Discount factor @ 10%.

0.909 [ 0.826 | 0.751 ] 0.683 [ 0.621

OR
1 (a) Vanita Ltd., decides to invest Rs. 4,00,000 in a project, 15

company has to increase its working capital by Rs. 2.00,000
during the life of project.
As a result of project, sales will increase by Rs. 5,00,000.
Yearly cash expenses of Rs. 1,50,000 will be incurred during
five year life of the project.
Depreciation is printed on straight line method. Rate of taxation
i1s 50% and cost of capital after tax deduction will be 20%.
Determine net present value and internal rate of return of the
project.
Present value of of Rs. 1 at various rate of discount for the
first five years are given below :

Year — 1 2 3 4 5
15% Rate | 0.870 [ 0.756 | 0.658 [ 0.572 | 0.497
20% Rate | 0.833 10.694 |1 0.579 | 0.482 | 0.402
25% Rate | 0.800 | 0.640 | 0.512 [ 0.410 | 0.328
30% Rate [ 0.769 | 0.592 | 0.455 [ 0.350 | 0.269

(b) Gagan Ltd. wants to implement an expansion project in the 5
year 2016 requiring an outlay of Rs. 40,00,000. It will yield
annually a profit of Rs. 6,00,000 after depreciation at 12.5%.
Assume tax to be 50%.

Calculate the pay-back period.
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Rajan Company is considering to purchase one out of the two

20

machines for production of a new product. The investment in each

machine will be Rs. 1,00,000 and they would give benefit for

12 years. For each alternative, three estimates of cash flow are given.

Most likely, optimistic and pessimistic.

Particulars Machine-A Machine-B
Rs. Rs.

Cost price 1,00,000 1,00,000

Estimate of cash flow :

Optimistic 32,000 40,000

Most likely 24,000 20,000

Pessimistic 16,000 1,000

The cost of capital is 14%. Which machine is more risky ?
The annuity of Rs. 1 at 14% for 12 years is Rs. 5.66.
OR

Ronak Company is considering to invest in a project, having 20

initial investment of Rs. 99,000. The useful life of this project is
3 years and it has no residual value. The estimates of cash flow after
depreciation but before tax and their probabilities are given below :

Year-1 Year-2 Year-3
Cash flow | Probability | Cash flow | Probability | Cash flow | Probability
20000 0.1 40000 0.3 60000 0.1
32000 0.5 32000 0.5 80000 0.2
24000 0.3 28000 0.5 80000 0.3
40000 0.2 20000 0.1 20000 0.4
48000 0.1 16000 0.25 12000 0.5

The cut off rate of the company is 12%.

Tax rate i1s 50%. The discount factors of three years are given below.

(@ 12%]

0.893

0.797

0.712

Would you advise to accept the project ?
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3 A farm woner plans to dig well in his farm. In the surrounding 15
farms, at a depth of 250 feet water is found in 75% well. Those
who have not found water till 250 feet, some of them dug 350 feet
and from it water is found in 30% well.
If the farm owner does not wish to dig well then he can buy the
water from the surrounding farmers, whose expenditure for 10 years is
Rs. 25,000. The cost of digging well per foot is Rs. 60.

On basis of this information prepare a decision tree, and find the best
solution for the farm owner.

OR
3 (a) From the following details, draw the net-work figure. 7
Beginning | End of Activity
of event |event
1 2 1-2
1 3 1-3
2 3 2-3
2 4 2-4
3 5 3-5
4 5 4-35
4 6 4-6
5 6 5-6
(b) Esplain : benefits and limitations of PERT. 8
4 Write short notes : (any three) 15

(1) Social Audit.

(2) Procedure of social cost benefit analysis.

(3) The scope of social responsibility accounting.

(4) Characteristics of strategic management accounting.
(5) The strategic triangle.

(6) Limitations of social responsibility accounting.
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